Quiz 19

April 19, 2017

Show all work and circle your final answer.
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. (4 points) Find two different polar coordinates of the Cartesian
coordinate (1, —5).
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. (4 points) Sketch the region given by the polar inequalities 1 <
r<2 —n/3<0 < /4
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3. (5 points) Find a Cartesian equation for the curve r?sin 6 = 1.
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4. (5 points) Sketch the polar curve r = 2—35sin @ by first sketching
the graph of r as a function of § in Cartesian coordinates.
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5. (2 points) What are you most worried about for the final exam?
What are you going to do about it?

Answers will vary.
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